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Highlighted text shows the changes made

3.0

3.1

3.2

Seats Across Committees

Calculating each committee separately and individually, as shown in 3.2 below, would
give an overall total out of the 78 seats of:-

Labour 4+2+4+10 = 20
Green 3+2+4+5 = 14
Conservative 2+2+2+5 = 115
MBI 2+2+2+5 = 115
Independent Group 1+1+2+5 = 9
Eco-Socialist 1+%+2+ (2§) = 6
Lib Dem as above = 6
_18

15 Member Committee (Planning Regulatory)
Labour 15/59x15 = 3.8136 (4)
Green 11/59x15= 2.7966 (3)
Conservative 10/59x15= 2.5424 (23)
MBI 10/59x15= 2.5424 (2%)
Independent Group 5/59x15= 1.2712 (1)
Eco-Socialist 4/59x15= 1.0169 (1)
Lib Dem 4/59x15= 1.0169 (1)

(15)

There are only 15 seats. The Conservative and MBI groups, having the same
residual, tie for the last seat on the Planning Committee.

10 Member Committee (Licensing Reqgulatory)

Labour 15/59x10= 2.5424 (2)
Green 11/59x10= 1.8644 (2)
Conservative 10/59x10= 1.6949 (2)
MBI 10/59x10= 1.6949 (2)
Independent Group 5/59x10= 0.8474 (1)
Eco-Socialist 4/59x10= 0.6780 (%)
Lib Dem 4/59x10= 0.6780 (3)

(10)

There are only 10 seats. The Eco-Socialists and Lib Dem groups, having the same
residual, tie for the last seat on the Licensing Committee

9 Member Committees x 2 (Overview and Scrutiny, Budget and Performance)

Labour 15/59x9= 2.2881 (2)
Green 11/59x9= 1.6780 (2)
Conservative 10/59x9= 1.5254 (1)
MBI 10/59x9= 1.5254 (1)
Independent Group 5/59x9= 0.7627 (1)
Eco-Socialist 4/59x9= 0.6102 (1)
Lib Dem 4/59x9= 0.6102 1

(9)



There are only 9 seats. The groups with the lowest residuals, the Conservative
and MBI groups, are rounded down.



